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1. 26 kiwis are on the table. 19 of them are green and the rest are yellow. How many kiwis are
yellow?

=

2. Albert has 82 dogs. 34 of the dogs are brown and the rest are black. How many of his dogs
are black?

=

3. Sabrina's mom gave 93 pears to take to school. Sabrina gave 14 pears to her friends. How
many pears are left over?

=

4. John has 23 oranges. Bryan has 52 oranges. How many fewer oranges does John have
than Bryan?

=

5. Taylor has 59 bananas. Kevin has 88 bananas. How many more bananas does Kevin have
than Taylor?

=

6. Dustin has 29 fewer bananas than Luke. Luke has 85 bananas. How many bananas does
Dustin have?

=
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7. Julian has 84 goats. 49 of the goats are gray and the rest are black. How many of his goats
are black?

=

8. Julian has 39 fewer kiwis than Sabrina. Sabrina has 47 kiwis. How many kiwis does Julian
have?

=

9. Zoe has 66 pears. Yuri has 75 pears. How many more pears does Yuri have than Zoe?

=

10. Lily has 24 fewer oranges than Anh. Anh has 31 oranges. How many oranges does Lily
have?

=

11. Elena has 38 cherries. Lily has 62 cherries. How many more cherries does Lily have than
Elena?

=

12. Trina has 18 pears. Andrea has 21 pears. How many fewer pears does Trina have than
Andrea?

=
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